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QUESTION 1

Which two are characteristics of snapshot-based backups? (Choose two.)

A. Snapshot-based backups greatly reduce time during which the database and applications are unavailable.
B. There is no need for InnoDB tables to perform its own recovery when restoring from the snapshot backup.
C. The frozen file system can be cloned to another virtual machine immediately into active service.

D. A separate physical copy must be made before releasing the snapshot backup.

E. Snapshot backups can be used only in virtual machines.

Correct Answer: DE

QUESTION 2

Examine these statements, which execute successfully: TRUNCATE test; BEGIN;
INSERT INTO test(id, name) VALUES(1, "Hello"); ROLLBACK;

SELECT id FROM test;

Which three storage engines would return a nonempty recordset for the test table when executing the statements?
(Choose three.)

A. NDB

B. ARCHIVE

C. InnopB

D. BLACKHOLE

E. MEMORY

F. MyISAM

Correct Answer: ADF

Reference: https://dev.mysqgl.com/doc/refman/5.6/en/blackhole-storage-engine.html

QUESTION 3
Which two methods allow a DBA to reset a user\\'s password? (Choose two.)
A. ALTER USER statement

B. mysql_secure_installation utility
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C. SET PASSWORD statement
D. mysgladmin client program
E. GRANT statement

Correct Answer: AC

QUESTION 4

Examine this command, which executes successfull mysglbackup --defaults-file=/backups/server-my.cnf --backup-
dir=/backups/full copy-back Which statement is true about the copy-back process?

A. The copy-back process is used to overwrite a new backup over an existing backup.
B. It restores files from the data directory to their original MySQL server locations.

C. It restores files from the backup directory to their original MySQL server locations.
D. The copy-back process makes inconsistent backups.

Correct Answer: AC

Reference: https://dev.mysqgl.com/doc/mysql-enterprise- backup/3.11/en/restore.restore.html

QUESTION 5

Which statement is true about cold backups?

A. They are backups taken from snapshots of a running database.

B. They are backups taken from OS copy commands.

C. They are good to use if only data structures must be backed up but not log files.
D. They are good to use when many users are online accessing the database.

Correct Answer: A
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